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PART -1

Child Development and
Pedagogy

The child identifies the main colours at 1.

B. 2 vears
C 3 years

D 4years

Which of the following method should 2.

be taken by the teacher to nurture
creativity”?

A Brainstorming
B Lecture method
C Audio-visual matenals

D. All the above

Which of the following statement is not
true in the context of development?

A Each stage of development has it’s
own danger

B Development does not take place by
encouragement or promotion.

C  Development is affected by cultural
changes.

D Each stage of development has it's
own speciality
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4. Which is the best method to study the
growth and development of a child?

A. Psychoanalytic method
B. Comparative method
C. Developmental method
D

. Statistical method

. *Out of the box” thinking is related to
which type of thinking?

A. Congruent thinking

B. Memory based thinking
C. Divergent thinking
D

. Convergent thinking

The exponent of the multiple factor
theory of intelligence is -----

A. McDougall
B. Termen
C. Thomndike

D. Burt

Who did the experiments related to
heredity on rats?

A. Karl Pearson
B. McDougal
C. Mendel
D

. Pavlov
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8.  Which leaming environment is good for 8. =i i e 3t g & e, e F

learning and listening in children? 7 a1 ada qé
A. Giving freedom to learners to A franfial @ 77 72 ¥ i@ 2
choose what to learn and how to ‘ AR tﬂ@'ﬂ%
leamn it !
B U W qWg A fafegr grar g1

B Listening passively for a long time

c. foat e & 24 e
b, v areh g forn T AT A

C. Keeping on giving homework

D Individual work done by learners

9. When did child development started in 9. s i arctfaenr & I EAT

India?
A 1930
A. 1930
B. 1887
B. 1887
C. 1879 C. 1879
D 1590 D. 1590

10. Vygotsky said about child development 10. grénveehl 3 a1 Ry o i 8 e fah -—-

that ----- . . .

: A g dE T SRR 3 HR &

A Itis due to genetics and culture. 2

B. Itis due to social interactions. B. ;3 A 5 T Bl
1

C. Itis a product of formal education. C i e 1 3w aard

D. Itis the result of assimilation and D Ig qHETH 3 gaRISE 1 R

adjustment. Al

11 gl fiven ) E e -

11.  Major problems in inclusive education

aredueto - 77 R
A Lack of teaching skills in teachers A fresd fyreor Tt <t A
B. Social attitude B &I FA
C. Syllabus C. Jr3asH
D. All the above D. I @t
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12. Inclusive Education includes -------

A
B.
C.
D.

Physically challenged child
Mentally retarded

Socially challenged children
All of the above

13. Which approach does not agree with the
National Curriculum Framework (NCF)
20057

A

B.

To be sensitive to the unique needs
of each child

To provide child centered, socially
relevant and equitable teaching /
leaming process

Focus on the teacher only

D. Understanding diversity in

children’s social and cultural
contexts

14. ______ canbe removed by inclusive
education.

A
B.
C.
D.

Disease
Weakness
Discrimination

Untouchability

1S.  The ------- has the most important role
in building the culture of the school.

A
B.

Academic Committees

School Head

C. Teachers and parents

D. Students

12, gomaeh fovem & orfiret & —o.ooeo.
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16. The child develops --------
A. from head to toe
B. from foot to head
C. from both sides

D. none of these

17. The role of -------- is important in
inclusive education.

A. Guest teacher
B. Artteacher
C_ Resource teacher
D. Sports teacher
18. Some students in your class are very
bright, how will you teach them?
A. With class
B. With higher class
C. Through enrichment programs

D. Whenever they want

19. In what sense has Guilford used the

term convergent thinking?

A. Intelligence

B. Creativity

C. Intelligence and Creativity

D. None of these
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21.

22.

23.

-------- motivation should always be
given in inclusive education

A Dynamic
B. Corrective
C. Positive

D Negative

Mental development is not related to ----
A weight and height of the student

B reasoning and judgement

C. development of memory

D. ability to perceive

Full form of ICIDH is ------

A Inclusive Classification of
Impairments, Disabilities and
Handicaps

B International Classification of
Impairments, Disabilities and
Handicaps

C International Classification of

Inclusive Disabilities and Handicaps

D International Culture of

Impairments, Disabilities and
Handicaps

Alexia is ------

A Inability to read
B Inability to write
C Learning disability
D

- Hearing loss

21.

22.

23.
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24. NVLD means --------- 24. NVLD & 39 8 ---eeee
A Non-verbal learning disabilities A nifesds HiEA i Aemn
B New verbal learning disabilities B ) (_ e
o ¢ = afeass €l #1 AEE
C Nine verbal learning disabilities 5 Wﬁﬁiﬁﬁ%ﬁﬁ
D None of these
25. A creative learner is one who is - 25. getarens frerfi ag 2 A -
A Very Intelligent. a5 qfeAAH 2
— e § &1 S S e I FA &
B Capable of getting good marks B zﬁj =
every time in examination. 4
. . . ¢ o (Lateral) feraa 3 gun @@TH
C_ Good in lateral thinking and :
. o 31 2l
problem solving. o
L D. i it 4o # agd 31 &
D. Fantastic in drawing and painting.
26. A teacher can inculcate social values in 26. s, foreres franfian @ TSR S &
the student by ---- frerfd o Gl -
A. speaking about great men A HEH Afhal & i H EIRERS
. .. B, TG o ATaT faehiad
B. by developing a sense of discipline 2
C TSyl %9 & Fdid &
C. behaving ideall
’ D. 3 373 FeHl FHTH
D telling them good stories
27. A child who has 1Q in between 90-110 27. U a=d ) feaeed TR 90-110 F H=
has -------- | — & 2
A General intelligence A HWF’IE\{&Z
B. Sharp intelligence B Wﬂﬁz
- C. 3cFE e
C  Excellent intelligence >
D, wfawreme
D. Talented
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28. Talent is due to ------- 28. ... % & yiavsfietar & 21

A Psycho-social factors A. st A T
B. Genetic structure B. ‘ﬁm )
C  Environmental motivation C. AT S
D. Adjustment of B and C D. B &t C 1§
29. How the child’s development is 29. =3 %1 oy 1 e faramed i
itg:;enrged by the school and the fireres grn wifaa gram 22
| A. TR
A. mental S——
B. social C T
C. emotional D I
D. all of these
30. Learning disability does not include --— 30, ... rferm srgrman & wnfaer 78 21
A. Dyscalculia A femaegiam
B. Dyslexia B. fewifeqan
C. Dysgraphia C. femmfem
D. Mental disabilities D. S faheren
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PART - 111
General English

Read the following poem:- 59,

The Eagle

He clasps the crag with crooked hands;
Close to the sun in lonely lands,
Ring’d with the azure world, he stands.

The wrinkled sea beneath him crawls;
He watches from his mountain walls,
And like a thunderbolt he falls.

- Alfred, Lord Tennyson

Now answer the question nos. 56 to 62
based on the above poem.

amET= AU

In the phrase ‘in lonely lands,’” the

underlined word is an example of-
A. Adjective

B. Adverb
C. Verb
D

. Noun

56. In the phrase ‘the wrinkled sea,” the 60. __ like a thunderbolt” is an example of-
underlined word is an example of- )
.. . A. Climax
A. Present participle
.. B. Metaphor
B. Past participle o
C. Perfect participle C. Simile
D Verbal Noun D. Metonymy

57. Which word in this poem has not been 61. The correct IPA representation of the
used as a verb? word ‘crooked’ is-
A. clasp A. /'kroked/

. B. close B. /'krokid/
C. stand C. /'krokit/
D crawl D. /'krokd/

58. In the opening line, there is a repetition 62. Which of the words in the given poem
of the sound /k/. What is this feature denotes the meaning — ‘bright blue in
known as? colour’?

A. Alliteration A. Crooked
B. Repetition B. Crag
C. Refrain C. Azure
D. Chorus D. Ring'd
SPACE FOR ROUGH WORK / T @rd & ford sre
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63.

Read the following passage:-

The study of history provides
many benefits First, we learn from the
past. We may repeat mistakes, but at
least we have the opportunity to avoid
them. Second. history teaches us what
questions 10 ask about the present.

Contrary to some people’s view, the
study of history is not the memorization

of names, dates and places It is the
thoughtful examination of the forces
that have shaped the course of human
life. We can examine events from the
past and then draw inferences about
current events. History teaches us about
likely outcomes. Another benefit of the
study of history is the broad range of
human experience which is covered.
war and peace are certainly covered, as
are national and international affairs.
However, matters of culture (art,
literature and music) are also included in
historical study. Human nature is an
important part of history: emotions like
passion, greed and insecurity have
influenced the shaping of world affairs.
Anyone who thinks that the study of
history is boring has not really studied

history.
Now answer the question nos. 63 to 70
based on the above passage.

History teaches us about likely

outcomes.
In the given sentence, the underlined

word 1s

A. Subject complement
B. Object complement
C. Object

D. Both(B)and (C)

64.

66.

Which of the following statements doe$
not agree with the given passage’

A Studying history is beneficial.

The study of history incorporates art
and literature.

C. History predicts probable results.

D. The study of history is a futile
exercise.

Which of the following statements does

the author negate about the study of

history?

1. It is boring.

2 It is the memorization of names,
dates and places.

3. It is a thoughtful examination of the
forces that have shaped the course of

human life.
4 1t is the examination of events from

the past and drawing inferences about
current events.

B

*A. Only 1

B. Only2
C. Both1and2
D. 1,2and 4

We may repeat mistakes, but at least we
have the opportunity to avoid them.
By which of the following conjunctions

the underlined word cannot be replaced

in the given context:-
A. nevertheless

B. however
C. yet
D

. hence

SPACE FOR ROUGH WORK / T &t & ford wnte
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67. “Itis the thoughtful examination of the
forces that have shaped the course of
human life.”

In the light of the given passage, the
above-quoted statement denotes-

1. History is just a kind of ‘asking
questions to the past.”

History is the study of those causes
and effects which affect human
civilization.

)

3. History is just chronicling the causes
of human evolution.

A Only 1
B. Only?2
C. Both1and2

D. Alll,2and3

68. We can examine events from the past
and then draw inferences about current

events.

What is not the meaning of the
underlined word in the given sentence in
the context of the given passage?

A. opinion

B. guess

C. belief

D. conclusion

69.

70.

71.

In the light of the given passage, read

the given statements - ,

I The benefit of the study of history is
the_broad range of human experience
Wth!’l is covered War and peace are
certainly covered, as are national and
International affairs

Il Human nature is an important part of
hlstqry: emotions like passion, greed
and insecurity have influenced the
shaping of world affairs.

Now, which of the following statement

IS correct?

72

A. Tis the argument and II is the
explanation 73

B. Ilis the argument and I is the
explanation.

. C. Tis the argument but II does not

explain 1.
D. There is no connection between [
and IIL.

In this passage, ‘contrary to’ means-
B. same as
D. opposite y

A similar
C. like

Read the given statements [ and IL

I Lead-in activities generally involve
looking at the pictures around a text
or at the title and trying to predict
what the text will be about.

[I Warmers are often used to raise
students’ energy levels or to make
them feel comfortable before the
main learning of the lesson starts.

Now, choose the correct option.
A Both I and 1l are correct

B Both 1 and Il are incorrect
C. Only l1s correct

D Only Il s correct
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72. Which of the following. statements with
regard to ‘Suggestopedia’ is not

correct:-
A Itis a portmanteau of “suggestion”

B.

C.

and “pedagogy.”

The student is the key player in it
and the instructor takes a back seat.
This method was developed by the
Bulganan psychiatrist Georgi
Lozanov.’

The instructor is by definition the
expert, the judge and the evaluator
of the performance.

73. ‘Register’ in the language teaching
context means:-

A

B.

C

D.

to put a name on an official list

an official list of names, etc. or a
book that contains this kind of list

to show something or to be shown
on a measuring instrument

the type of language (formal or
informal) that is used in a piece of

writing

74. Read the given statements I and 1L
I Language acquisition is a

I1.

subconscious process similar to that
by which children acquire their first
language.

Language learning is a conscious
process and is the product of either a
formal learning situation or a self-

study programme.

Now, choose the correct option.

A

B.
C.
D

Only I is correct

Only Il is correct

Both I and 11 are correct
Both I and II are incorrect

75.

76.

Read the given passage

“Raju was surprised because Anju was

much faster at running than he was. But
after he found out that her mother Usha

had won a medal for running at the
Olympics.”

Here the second sentence gives us a
possible reason why Anju was so good
at running. But we only understand that
this is a reason if we know that Olympic
runners are very good.

We used our knowledge of the world to
see the sense connection between the
two sentences here.

This phenomenon is called-
A. coherence

B. cohesion
C. conjunction
D

. connector

In the context of Progress Testing,
which statement is not desirable?

A. The teacher should include all skills.

B. The teacher should give feedback on
student performance.

C. The teacher should use a variety of
ways to evaluate progress 1.,
diaries, self-evaluation, checklists,
classroom observation,
questionnaires, tests and others.

~ D. The teacher should treat the scores

the same as those on final exams.

162-XJC-BHR-M-M
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77- Read the given statements [ and 11 79.

I The objective of remedial teaching is

1o give additional help to pupils who,
for one reason or another, have fallen
behind the rest of the class in the
English language.

I Some may have poor memory, poor
level of motivation, short span of
attention in work situations or
associated behavioural problems.

Now, choose the correct option.

A Statement | is an argument and Il is
its explanation.

B. Statement Il is an argument and 1 is
its explanation.

C. Both statements 1 and II are
arguments.

D Statement 1 is an argument but 11 is
not its explanation.

78.  The first listening task Mr. Aashutosh 80.

gives his students is usually one in
which they have to decide on the
general meaning of the text.

Which aspect of listening 1s it?

A Listening for specific information
B Listening for gist

C Listening extensively

D. Listening for details

As per Communicative Language
Teaching (CI.T) methodologies, which
of the following is not a prescription fo

grammar teaching”

A. Grammar teaching should be done

in context.
B First fluency, then accuracy
C. Use the deductive form of teaching

D. Focus on meaning rather than on

forms

Read the given statements I and I1

I. Errors occur when learners try to say
something that is beyond their currer
level of knowledge or language
processing.

IL. Slips occur simply because our
attention is somewhere else at that
moment.

Now, choose the correct option.

A. Both I and I are correct
B Both I and II are incorrect
C. Only lis correct

D. Only Il 1s correct

20362-XJC-BHR-M-M 8 D
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81.

82.

83.

PART -1V

Mathematics and Science

a of rectangle is 460m? If the
15% more than the breadth
breadth of the rectangular

The are

length 1
What is the
field”

A 15 meters

B 26 meters
C 345 meters
D. None of these

What quarterly payment will discharge a
debt of Rs.2280 due in two years at 16%

p.a simple interest?
A. 1000
B 250
C. 360
D. 450

Find the value of x, if AoBis a straight

line-

wrforer 3w

81. @WWW%OW%M&#&W&
drard & 15% s & a1 A I NI
fepaft 82

A 15H
B. 262
C. 345
D. 30k T & HIE e
82. 169, St 1T & grumr oIS 7 2 A4 A
2280 € & ot T  fere fepaT
STk T AT &I
A. 1000
B. 250
C. 360
D. 450

83. x @& HH 1 R ATG AoB TF T W@ e
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B4. ‘The following PieChan hoo e %4, SatemrsTIEE B
percentage of herate and illnerare Sty Frr o A TE A 2race A
males and femnales ina aty Wha 3 a5 TET par CEaal e
the difference between the number of cL . _

- (o > Tl PR AR =7 . -
hterate males and hiterate females : 4
total number of males and females T BT AT
250000)"
33, Incrate L€, b 1Al Sl / T i
'ka."v ~ mak: ;“!._)H -
= 4
; A7
24% ilcratc 1'_/ Fi / ,
fnak's =3 ’
%0 IRcralc Ao
fermak:,
A TR0
A 75000
B 134
B 1500
C 5000 C 2000
D 500 D 300
85. Three cubes with sides in the ratio 3 4 5 85, smamfemEiuETS F AT LT3
are melted to form a single cube whose CreTE TE TS S T ECEEE T
diagonal is 124/3cm  The sides of the S i
FIAEFZ 22 95 TEE O F v=T <
cubes are- _ B
FITE
A 3cm,4cm.S5cm A
A @O _4FGH IFET
B 6cm.8cm. 10cm - -
B 6T ~HA 10FF
C 9cm,12cm, 1Scm S
’ C 9¥H 28T 1FF
D. None of t .- ~
hese D TG EFETE
/
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86. 1y 5> o 307 then the value of Bo. afa 58 307 2 aa XY grar 2
Xy .o XY
e R
xty A
Al 7
7 B3
B 3 C 6
o
N D 7
D 7

87. afy 12 et o ohr gt & AT o fasT g

87. 1fthe C.P.of 12 pens is equal to S.P. of
8 pens. Find the gain percent. %m%mmqﬁmma &7
A' 250/0 A 2500
C 50% C 50%
D .2,
66-:-;-‘,’/0 D. 66:;—%
88. A motorcyclist travels for 10 hours, the 88. ua AT A1 rsfRa 4 10 2 AT HAT B,
first half at 21 kmph and the other half aeft 26 98 21 %_ﬁ.,,ﬁaﬁrﬁﬁwﬁq
at 24 kmph. Find the distance travelled. aﬁ24?§€tﬁ/€i2rﬁﬂﬁfﬁm%l T
A. 225km HEER I
B 224 km A 225 o
C 200 km B. 224 fwH
) C. 200 fH.
D. 324 km
D. 324 f&dl
89. 1 1 89. ]
If x+—=1, y+—=1then find the value afe x+— =1 y+—=1dd z+— HIHHA
y z y z X
of z +l, A H
X A 0
A 0 B I
B. 1 '
D 3 D 3

o =
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90. In the given figure, O is the point of
intersection of two chords AB and CD
such that OB = OD and . AOC - 45°

Then AOAC and AODB are-

B

A. Equilateral and similar
B. Equilateral but not similar
C  Isosceles and similar

D  Isosceles but not similar

91. AABC ~ ADEF and the perimeters of

AABC and ADEF are 30 cm and 18 cm
respectively. If BC = 9cm then EF =?

A 63 B. 54

C 72 D 45
% IfFA B C=2 3 4then 2. B.C g

B C A

equal to-

A 4 9 Jo

B 8 9 12

C 8 9 1o

D 8 90 24
-

fasy 1ot Ferg & O A1 SHATHT AB AT CD HT
gfqesaq faz za g 2 f& OB OD 441
CAOC 45 a8 AOAC A7 AODB #

94.
A GHaTg ST gaEd
B §HHTE cffeA qHEd T7f o5,
C. aufgarg s a9Ed
D @mfgaTy ciferd TEd et

AABC ~ ADEF 31T AABC @47 ADEF
&1 g sFEr 30 AH ST AR BHL R g
e BC=9@H RATEF =

A 63 B 54
C. 72 D. 45

qﬁ{A:B:(‘:213:4%?ﬁii —(—
B A

N|w

T B
97.
A 4:9:16
B. R:9:12
C R8:9:10

D 8:9:24

SPACF FOR RO ¢ 11 waipoe
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93.

9.

96.

97.

. |
If x+ — - 3 then find the value of
X

> |
X<+ —
2

X

A 7 B 3
C. o D 9

The sum of first ‘n” terms of two A P. 3,
7.11,15, . . and 30, 33,36, 39, .. .
are equal then find the value of ‘n’ .

A 45 B. 50

C 55 C. 60

The radius of a circle is so increased that
its circumference increases by 5%. Then

the area of the circle will increase by-
A 10% B. 25%

C. 10.25% D. 12.5%

------- lens present in the human eye.
A. Concave lens
B. Convex lens
C. A mirror

D. Planar lens

Which among the following is the most
commonly used as semiconductor?

A. Silicon

B Sulphur
C. Germanium
D

. Carbon

93.

97.

’Jﬁx+|'3?ﬁx2+—%7ﬂqﬁmﬁ'
X X

AT B3

C 6 D 9

Agata AvEi 3,7, 11,15, ... 91 30,
33,36, 39, ..... % &t *n’ T4 &1 AT EHH

2| qF ‘n’ &I 9 F1d Rl

A. 45 B. 50
C. 55 C. 60

g ot P i st aftE i wrh 2
zaehl aRfT 5% 3¢ STelt & Y 7 T EABA
fopT &g STem?

A 10% B. 25%

C. 10.25% D. 12.5%

A < i & o yehr < i I ST
&

A Fdd A8

B. A ¥

C. T&guu

D. W™
fmforad & @ ST aod A
saTeTe ¥ ®U § geawTel fehaT ST 87
A fafae

B. W

C. W

D. &
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98.

99.

100.

101.

Which of the following is greenhouse
gas”?

A CO,
B. N,0
C CH,

D.  All of the above

In ecosystem, which of the following
requires maximum energy?

A. Pnimary producer
B. Prnimary consumer
C. Secondary consumer
D

Decomposer

Example of renewable energy sources-
A. Solar energy
B Wind energy
C. Hydro energy
D

All of the above

Which of the following materials is the
most suitable for making a permanent
magnet”

A Steel

B. Copper
C. Nickel
D

Soft Iron

98.

ﬁqﬁ«rﬁaﬁﬁﬁaﬁuﬁmﬁmﬁn
B39 )

- A FH SRS

99.

100.

101.

B. 578 siwamEe
C. g

D 370 oy

STt rareh S % foru Fnefafiaa o &
H-HT v Faffires sqge 2

A. WG
B. dfar
C. foa

' D. T AR

SPACE FOR ROUGH WORK / & &/ & o wre



102. What is the range of wavelength for 102. mmﬁmwﬁmﬁmﬁ%‘?

. Lo
visible light’ A 400-700 nm
A. 400-700 nm

B. 400-900 nm
B. 400-900 nm
C. 300-700 nm C. 300-700 nm
D. 400-800 nm D. 400-800 nm

103. Which of the following are the part of 103. 7 & ¥ & A1 HG & T 87

computer? .
A. Central Processing Unit (CPU) A ﬁ?ﬁ!ﬁﬁﬁfﬂ?{ﬁl M
B. Random Access Memory (RAM) . mmﬁﬁ S

C. Motherboard C. wEEs

D. All of the above D. 39U ot

104. ﬁgagmﬁabﬁ%mmﬁmw

)4. Transfer of heat through

electromagnetic waves is known as ----- T T FEEATAT 22
A. Conduction A T

B. Convection B daed

C. Radiation c fafer

D All of the above D. 390 @t

-~

105. gie mTe SoTTe o6 SrEw fo fordrarent 4

)S. According to five kingdom system

~ which characteristics placed the fungi in FdH B TH AT ST T@r 87
a separate kingdom? A @R i B g
A. Cell wall structure .
B. Nuclear membrane B. 5 et
C. Nutrition C. 9
D. All of the above D. I aft

SPACE FOR ROUGH WORK/ & & & s
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106. Which of the following option is true for
property / properties of metals?

A Excellent heat conductor

B. High melting point

C. Easy to corrode

D. All of the above

107.

The disease causing bacterium for

plague 1s-

A

B
C.
D

108.

B.

C.
D.

109.

Yersinia pseudotuberculosis
Yersinia enterocolitica

Yersinia pestis

_ All of the above

What is the SI unit of force?
A

Kgm/™®

Kegm/ s2

Newton-meter

Newton

In which of the following smallest C-C

bond is present?

A

B
€.
D

FCH, - CH,F
HC =CH
CH, = CHF

CH; - CHy

106.

107.

108.

109.

Frerferfiga & & urqeiiar d a/
A. SPE IS I

B 3= Temie

C. 3marh @ S & S

D. 390 avt

< Qo for Sframoy & v v 3
A. R TRzt
B. afifr tedmifafe

C. afftanifea

D. I90h @Mt

S & S] HIHS /1 22

A. feremaaese
B. frdmmaee’
C. gHA-HiX

D, A

frafafaa & & foet @l 3ter C-
Jufierq &9

FCH, —-CH,F
HC =CH

CH2 = CHI:

o o % >

CH; - CH,

SPACE FOR ROUGH WORK / T& & & fora smrg
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110. According to the World Health 10, oy w@weg @17 (WHO)  SEW, —--

Organization (WHO), noise above ------ dB) & FT & ¥R FY qE FETH
(dB) defines as noise pollution. ;ﬁ\;ﬁaﬁmﬂmtl "
A. 65dB
. A 65dB

B. 60dB

B. 60dB
C. 50dB

C. 50dB
D. Above 65 dB D. 65dB &I

SPACE FOR ROUGH WORK / 7% &4 & ford g



& PART -V
¢ . .
g Social Studies amaTiies srvgaT
E 111. ‘Ramayana’ was written by ----—.__ 111. )
: THET & AGF P 5
A. Tulsidas
! A e
! B. Surdas
B. PE?TH
C. Maharshi Valmiki
l C. uef§ arfeaehr
D. Maharshi Ved wef§ Jeeura
arshi Vedvyas D
112. Amolng cor}i{mon p[e)ople whgwas 2. oorq zamis & 919 & GH= 40T & 419
opular as rfazrat Dataganj’
Pop s 1 wfres o
A. Abdul Hussain Hujvery ' A W@?ﬁaﬁ
B. Kabirdas B &die™
C. Guru Nanak Dev C ﬂzméa
D. Amir Khusrow D. RTaEl
113. [n which year India came under the 113. a7 frdter ot & ot forg 9y 3mam
British Crown?
A 1600
A. 1600
B. 1858
B. 1858
C. 1857
C. 1857
D. 1757
D. 1757
SPACE FOR ROUGH WORK / T& & & ford s
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j14. What is correct?
i) President can say to council of
ministers to reconsider on an

advice
ii) President can say to council of
ministers to consider on a decision
of a minister
iii) Governor can say to council of
ministers to reconsider on an
advice
iv) Governor can say to council of
ministers to consider on a decision
of a minister.
A (1) (1) (1v)
B (i1) (i11) (1v)
C (i) (1) (v)
D (i) (i) (i)

114, pp a#t 20

raufa ufaatraz 41 fadt 5417
qafdam & fequ @ aFar 2
aafa fepadt oht o fami o7 fereard &7 e

i) K

i)
¥ foro afeaafras i @ a1 2)

i) rrsrare afertras @ faeedt e T
gqﬁan%nfm,w.m%r

iv) gt Fort w3 fant v far
w0 3 fequ wftes @ &7 8T 21

PAL (i) (i) (iv)
B. (ii) (iii) (iv)
C. (i) (i) (iv)
D. (i) (ii) (iii)

’, 115. mﬁtmﬁmﬁ%m

115. What is correct about joint seating of

Union and State Legislature? ¥ fawg & gt F 2

i) Both houses of parliament can be i) e ¥ 2T aEl A $3F
assembled together. gt 2l

iiy Both houses of parliament can be ii) Hez 3 AT wedt F g 36
assembled together and can discuss gl 8 v Foreft foraer ov =it &1 Fehdt
on a matter. 2

iii) Both houses of State Legislature iii) mmﬁw%aﬁmﬁﬁm
can be assembled together Yo o Gl 2l

iv) Both houses of State Legislature iv) Wm%ﬁgﬁﬁm
can be assembled together and can A3 B Gohdl & i fopedt farwr @ ==t
discuss on a matter 21 gl 2l

A (i) A (i)

B () () B. (i) (i)

C (1) () (111) C (i) (i) (1i1)

D (i) (ii) (ii1) (iv) D. (i) () (i) (1v)

11 WORK / T &rd & fora e
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116. Oldest ‘Ved is ------

117.

118.

119.

120.

A. Samved
B. Yajurved
C. Rigved

D. Atharvaved

When the Golden Jubilee Urban
Employment Scheme was initiated?

A 1997
B. 1998
C. 1999
D. 2000

What is the age of Senior Citizen in
India?

A. Above 60
B. Above 65
C. Above 70
D. Above 75

What was ‘ Nishkramya’?

A. Import duty

B. Espionage

C. Export duty

D. Village name

Who was the writer of ‘Indica’?
A. Chandragupta

B. Chanakya

C. Megasthenes

D. Premchand

116.

117.

118.

>

119.

120.

cow»ggobm>

:

1997
1998

1999

2000

R 8 e Hids (af i) 6
FTR?

60 & I (31fereh)

65 ¥ I (Aftrh)
70 ¥ 3feren

75 ¥ foren

Frsrr=r = o
A. HANE K

B. TR
C. fafaw

DRICKIE L]

e & dEs I

A. IXTH
B. QU
C. "y

D. Y9<E

O 0ow
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/hich is matched i
” l ed in the context of
emova procedure?

0 Speaker of house of the people

Speaker of State Legislati
sy gislative

i) Chairman of Council of States

V) Chaim_'nan of State Legislative
Council

A () Gi) GiD)
B (if) (i) (iv)

c. (ii) (iv) ()

p. (iv) () (1)

wWhen the Annapoorna Yojana was
implemented?

A 1964

B. 1947

C. 2000

D. 1998

i)

;122

123. What is Vadhuya?
A. Cast
B. Special Dress
C. Food
D. Coins

124. In which year Sati-pratha was
abolished?
A 1829
B. 1929
C. 1729
D. 2001

H0362-XJC-BHR-M-M

SPACE FOR ROUG

121,

122.

123.

124.

i e s e e e &7
i) <V A & A

i) T faum awn @ A

jif) T3 @ & aeTae

iv) mmwﬂw

A i i (i)

B. i) i) (iv)

C. i) (iv) (i)

D. (iv) (i) (ii)

g Ao ot e 1 ¥
A. 1964

B. 1947
C. 2000
D. 1998

T

A. Sfd

B. farty afea™
C. @l

D. R

.y Y Fer e T foen AT

A, 1829

B. 1929
c. 1729
D. 2001

L
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' TN i
;

125.

126.

127.

128.

According to the constitution. what 1s

"
correct

1) First house of State Legislature will

be State 1 cgislative Assembly

i1y Second House of State Legislature

will be State Legislative Council

Sclect the right answer

A (1)1s correct

B (n)1s correct

C (1) and (i1) both are correct

D (1) and (11) both are wrong

Indus civilization was ---------
A. Rural civilization
Urban civilization

Agriculture based civilization

o N w

Iron Age civilization

--—--- was known by the name of
Swaranabhoomi.

A. Malaya
B. Jawa
C. Sumatra
D. China

Where was Chaitanya Mahaprabhu
born?

A. Kashmir
B. Bengal
C. Punjab
D. Maharashtra

125.

126.

127.

128.

afaurg & BT B2 TR
V)T favrEe £ gy g e
frvara avr 2

W) T fasre a1 frdvy s
v afrez 2y

8 397 &y 7 ff )

A ()ad?

B. (i) &@t?

C. (i) 3 (ii) a1 @ 2

D. (i) 3% (ij) 21 A4 2

HH

<A HETH T ST el g7 o
A R
B. smet
C. 99
D. HEmTY
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L--“ R D asd——

129.

130.

Who was the pounder of Gupta

Dynasty?

A. Chandragupt3
g Samudraguptd
C. Vishnugupta
p. Shrigupta

Who was the Jeader of the revolt of

18577

A. Rani Laxmibai

B. Mangal Pandey

C. Mahatma Gandhi
D. Bahadur Shah Zafar

SPACE F

129.
TTH 6HTA oh BRI A 917

B
C. R
D

130. 1857 % forsie & JaT @M 97
A. wERH Aefiarg |
B, AR
C. wgTeaT M
D. S e IH

OR ROUGH wonk/rrsmﬁ%fhﬁm

(TETECHE e

n 2|
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PART - V]
Computer Related |
General Knowledge FY daefy -
, o h
131. Which of the following 1s a searc 131, |
engine? ﬁq%ﬁqaﬁmmﬁm%?
A Google " A !Em
B. Gmail B. sfaq
C_ Yahoo Mail C. ‘“'ialﬁ
D. Linux D. Ry
132. ROM is -—-—--- memory. 132, -
""" |
A. Permanent and volatile
a w@ﬂf{aﬂm
B. Temporary 5

C. Permanent and non volatile

D. Working D. #ri¥iw
133. Scanner is an —---— device. 133. S ... fearm ¥
A. Input
A TR
B. Memory B. Wi
C. Output
C. IMRE
D. Secondary storage D. sr@
134. VIRUS is 2 - 134. @ R
A. Spreadsheet A T
B. Software B TRAW
C. Operating System C. irqfn Rrew
D. None of the above D. Ik H1§ T&

e
SPACE FOR ROUGH WORK / T& %4 % ford e
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A System Software
g. Virus

C Application Software
D. Hardware
la in Excel starts with —----

36, Formy
1 \ b

B. -

c?

D‘ =

{37. Computers are used in these fields --—-

A Gaming
B. Weather forecasting
C. Presentation

D. All of the above

38. Multimedia comprises Of -----—.

A. Audio A afifea
B. Video B. fafe
C. Audio and Video C. siifea wa fafean
D. None of the above D. I HIE e
39. Which is not an operating system? 139. ;W%f@ﬁﬁﬁﬂqlﬁm w7
A. MS Office . aa s
B. UNIX 5 e
- Pos C. 3™
D. WINDOWS D fraw
_

- e ] e a—

135. uy ug aifeed U - 2l
A fiew grEAT
B A
- C r{'ﬁﬁmlﬁ’ﬁw
D grEaw

136. qﬁaﬁmn{:{ﬂx[ﬁm% ------- fl

138. weAHfeaT d Wit & ----—- |

362‘XJC-BHR-M-M

¥ —
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~7

140. Computers have application in ------- 140, FHropey & syam e ay
A. Precision farming A qﬂ'ﬂm@?h
B. Office B. #EId
C. Teaching C. fhgm
D. All of the above D. 390 vt

\ e
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PART - vy
Generaj Knowledge !
AW 7

141, .
Who discovered Radioactivity? *
\ 141. Yfeamfar $ mre fpay €10

A Henrj Becquerel

B. Satyendranath Bose A %Wﬁ e
C. Jons Jacob Berzelius ) Wm ‘"“
D. Albert Einstein € A
D e TE2TE
142, When was Chandrayaan-1 launched? 142, IgIM- | &1 9499 & foFam o o
A. 22 October 2018 A 22 3FE 2018
B. 22 October 2006 B. 22 3@ 2006
C. 22 October 2008 C 22 3@« 2008
D. 22 October 2010 D. 22 GTE&?_;( 2010
143. n;f gi ;}or.icalalShelr-Shah Suri Marg is 143. ffafs 8 @ faeedt 3t form e F o
caled Nasna Highvay No 1 betvesn e o g e
following? o | T
A Jalandhar &
B. Chandigarh i B o
C. Ludhiana ¢ g
D Amritsar - D

144. Sefiee o1 it fFd ahgd &7
A, ufsd geare wf
B. < @ads aud

144. Who is called Gandhi of Chhattisgarh?
A. Pandit Sundarlal Sharma

B. Dr. Khubchand Baghel
C. Hanuman Singh C. ggtnqﬁqg
D. Wamanrao Baliram Lakhe D. aEE SferH A

SPACE FOR ROUGH WORK/ @ & & o e



14S.

146.

147.

148.

149.

Which gas is depleted due to air
pollution?

A. Oxygen
B Carbon-di-oxide

C. Ozone
D. Nitrogen

On which type of rock, black soil has
been developed on deccan plateau of

India?

A. Metamorphic

B. Igneous

C. Sedimentary

D. None of the above
Where is the famous Laxman temple in
Chhattisgarh?

A. Raipur

B. Sirpur

C. Sukma

D. None of the above

Name the First Satellite built by India --

A. Rohini RS-1
B. Aryabhata

C. Chandrayaan-1
D. SPADEX

Who invented the Lightning Conductor?
A. Graham Bell

B. Lord Lister

C. Benjamin Franklin

D

. Einstein

145,

146,

147.

148.

149.

o0 ® >

— =

WW%WMWHWW%
A, SiFfa "
B. & 1§ sffeumze

C. 3nH

D sz

W & Tt 9T & ekt furdt a1 P
febt yapm ot etz g

P
AT
)
. 3T IS TE

Seitang & yigee Aemw afm =t o
A TR

. B. farg

C. gF
D. T ARSI
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150 A present, which “age-group’ is in 150. adum awa v iy seree 3 fe
majonty in Indian population? A sifreRar &9
A. Dependent population of children A F=a1 & snfua s
B. Dependent population of old B gt Y sriyd ween
C. Working age population ;€ HAYE S
D. None of the above D. I g A

i

Ry

» I
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